@ /Bl

BITRASE

O A AR F X

M ERIR AIRAEL

EE|V|VIIM| |A||1|2| - @
Fie| mEEsong HERE e Fize| BeEsdng)
W | wiEEs (mm) (mm) M |2igg
TiR2| B HHER A | AR EIRLL TAB S| WBh(FRi#)
M | mERERGRE) B | BFL(FRHE) S | Ezh(EE)
T |emEs)
T
FHRIHE mm | 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | 80 | 100 i i HI 2R
ZhEA XAER / BAER: MR FHE R iﬁ?L(*fT\?ﬁ%) i
fE A ZRMERES RO NBLURE
BRIEMESH | MPa 15 ) 14 38
BBEAES | MPa 1.0 P ———
REEAES | MPa 0.1 vy EEISH
FFimIREL MBS (FRAE ), SMESL (ERE)
WERAKEE | C —10 ~ 60(BRE AL )
ITREAIFIRE mm 0~+1.0
Z)th x
TE IR mm/s 50 ~ 500
U RRTRMRERF X D %E o
E R MR - . HERE 12 | 16 | 20 | 25 | 32 | 40
: = 5
(mm) SRS (Iim) e HASRSE 23 | 34 |50 | 72 110|183
12 5 10 135020 25 ESmm;;rizﬂwuﬁ 6 | 8 |13 14|21 23
MT-33 %351 L
20
25 5 10 15 20 25 FANSINEES 50 63 80 100
2(2) 30 35 40 45 50 EAEE 297 | 456 | 861 | 1556
5mm 1TEERY M
50 MT—07 %51 = mm;;%im Bl a6 | a1 | e | o
63 10 15 20 25 30 35
80 40 45 50 HEF  EEMA40 - 20
100 183(EARIFE) + 23(fME 5 E) x 20/5 = 2759

i LI ERMIEENIRIES EP533, 537,
2 AEBMIARES TRERSE,
3. BERSALE BN BB TR ST EEH,

431




EE

5

r

HIEE

“ree
N

SMERTE
Pk RS R <

REATRIIR A IR AL

BRI IR

o\[*
'_><

¢D

432

SMBLTER
H
C
X
L

FETH
No. FEHER |
)¢ 1 a1k B4 4
Lp 2 RE $RES
3] HEE o)
] 4 B 25
L 5 HE §
6 E g
7 HEEHE NBR
ERINE o R
(mm)
12 M4 x 0.7 7
16 M4 x 0.7 7
20 M6 x 1.0 10
25 M6 x 1.0 10
32 M6 x 1.0 10
40 M6 x 1.0 10
50 M8 x 1.25 14
63 M10x 1.5 18
TBirE 80 M12x1.75 22
100 M12x1.75 22
H1E
(mm) © X 6D H L K
12 9 10.5 6 M5 x 0.8 14 5
16 10 12 8 M6 x 1.0 15.5 6
20 12 14 10 M8 x 1.25 18,5 8
25 15 175 12 M10x1.25 22.5 10
32 20.5 23.5 16 M14x15 28.5 14
40 20.5 23.5 16 M14x15 28.5 14
50 26 28.5 20 M18x 1.5 33.5 17
63 26 28.5 20 M18x 1.5 33.5 17
80 32,5 35.5 25 M22x 1.5 43.5 22
100 32.5 35.5 30 M22x 1.5 43.5 27
Lol 122 © X 6D H L K
(mm)
12 9 10.5 6 M5 x 0.8 14 5
16 10 12 8 M6 x 1.0 15.5 6
20 12 14 10 M8x125 | 185 8
25 15 175 12 | M10x1.25 | 225 10
32 205 | 235 16 Mi14x15 | 285 14
40 205 | 235 16 Mi14x15 | 285 14
50 26 28.5 20 M18x15 | 335 17
63 26 28.5 20 M18x15 | 335 17
80 325 | 355 25 M22x15 | 435 22
100 325 | 355 30 M26x1.5 | 435 27




EE

24 z
SMERSTE (mm)
EEMB
¢12 ~ $25
FE
HRSRLERC
R
o] 2]
F B+ 1R 2-POC
A+1TRR
$32 ~ $100
HRgBg  4-N (i8FL)
#C /-G (mmt) el EPE L F
o A8 © [ et Ny
9 ) :%N R O,f,{},,
P -
& &)
K
M10.2 FFx L B+17#8
E 4 A+17H2
EEMA
12 ~ ¢$25
¢ ¢ 2020) , M Fx
1o
HEgY
®C
Dj
fai Vai
| ARG <[
(K| Q LE)
OL M L B+1718 2_p
E A+1THE #0
$32 ~ $100
Y] HEHRS  4-O(FEikBIRLL -9 2-P#0 .
®C
¢ _
8= ) S @ 0
% 51: j}» N 2 w9 A\ (o
L
M=0.2
Fx E J L B+17i2
s A+17E2
T perErT
ﬁIiEII’\-H'T'ﬂ‘iFEDEEIAA"‘BB*DEFF"G H C|I|J|K|[L[M|N (0] P QS | U |V|zZ
(mm) (mm)
12 5~30 [20.5/31.5| 17 |28 |6 |32 | 5 | 6.5 |6.5%R3.5| M3x05 |6 | — | - | 5[3.5|22|3.5|6.5K3.5 |[M5x0.8|7.5[35.5(/19.5(25| —
16 5~30 | 22 | 34 |18.5[30.5| 8 |38 | 5.5 | 5.5 |6.5iR3.5| M4x0.7 |8 | — | - | 6 [3.5|28 |3.5| 6.5i%3.5 [M5x0.8| 8 [41.5|22.5(29| —
20 5~50 | 24 | 36 |19.531.5/10(|46.8/5.5| 55| 97 |[M5x0.8 |7 | - | - |8 |4.5|36(55 97 |[M5x0.8| 9 | 48 |24.5(36| -
25 5~50 [27.5/37.5|22.5(32.5(12| 52 |55 5.5 | 97 |[M6x1.0 [12| — | - |10 5 |40 (5.5 97 |[M5x0.8| 11 [53.5|27.5(40| —
5 5.5 — . |[m5x08][115
32 10-50 30| 40|23 |33|16|45 75 75| 9K7 |M8x1.25(13{ 60| 4 (14| 7 |34 (55| 9K7 G1/s 105 58.5|31.5| - |18
40 5~50 [36.5(46.5(29.5(39.5(16| 52 | 8 8 9R7 |M8x1.25(13|69 | 5 (14| 7 |40 |5.5| 9R7 G1/8 11|66 | 35 | - |18
50 10 ~ 50 [38.5|48.5|30.5|40.5|20 | 64 [10.5|10.5| 118 |M10x1.5|15|86 | 7 |17| 8 |50 |6.6| 11iR8 G1/4 |[10.5| 80 | 41 | - |22
63 10~50| 44 | 54 | 36 | 46 |20| 77 |10.5{10.5| 14%10.5(M10x 1.5{15(103| 7 |17| 8 |60 | 9 [14iX10.5| G1/4 15| 93 |47.5| - |22
80 10 ~ 50 [53.5(63.5|43.5|53.5|25 | 98 |12.5(12.5|17.5%135[{M16x2.0(21(132| 6 |22( 10|77 |11 [17.5F13.5] G3/8 16 |112.5|57.5| — |26
100 |10~50| 65| 75|53 | 63 [30(117| 13 | 13 |1755%135|M20 x 2.5(27|156(|6.5|27| 12|94 |11 [17.5if13.5] G3/8 | 23 [132.5/67.5| - |26
* AR EL R

433





